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. ____is useful for situations where you have multiple
Un-ordered list | Definition list | Ordered list Nested list | gptions for single item in a list.
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Link Hyperlink Tag Andior. 5 d;er ; artaws you to go from one part of the webpage
3 3 2 6 SR S "Ws" = Ld:é;ﬂ%.f 6
: How.itiany "Ws" are necessary to understand a problem?
Jg A { 5;(? ~>‘§ Sikf S "Vlawu' ‘e (Planning) L / Jﬁ _/Vfu'v (f’ 7
; CEIZe : Prepared | Which soluti
B ; ; pare ch solution is not reached throuy; al
s solution | Cendid solution|  sofution |planning or work planning? i
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Truth table rCompsz Compound Boolean | Sometimes we assemble more than one proposition to
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( Part-1 dj‘ diaa )
08  Write short answers to any FOUR parts. -gogkf-?ﬁ’li".’b,bcéf <2
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Why we use five "Ws"?

Define flowchart.

Which solution saves our time?

Write list of types of test data.

Write tags to insert space in HTML.,

Write tag to create table in HTML.

Write short answers to any FOUR parts.
Define ASCII code.

Convert (1000001), into decimal number system.
Write two examples of secondary memory.

Write two examples of proposition. ‘

Write two types of software piracy.
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Define the phishing attack. -ZEw S (phishing attack) G B (vi)
(i)
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08  Write short answers to any FOUR parts. . , -Jawf’&vu s(jf -4
What is the use of HTTP protocol? "c.db"l U/{dfi;/ HTTP (i)
What is the purpose of transport layer? : ‘-’:".(Kl!(ﬁuu{.“ 7 (i)
What is:meant by message? ‘.‘c‘._:!/__lfc,rg (iii)
Explain control information. : -_:é =olas Job"” J:}‘/ @iv)
What is meant by colspan? Sl e Bl )
What is meant by heading and sub-heading? ?‘a;l/ge_firzqm.ﬁﬁ (i)

A 08 Ly -y fmlinl ety §F cplgd diaa
Part - I, Attempt any TWO questions. Each question carries 08 marks.

08  Write note on the types of test data. _é/ f;)’/(lﬁld/ Liss -5

08 (uLJJ/Jbu/‘) éulfﬂ»ﬂ‘ Vc.dﬂuy/‘u:"/uf&_ﬂ)w/}*r
Why we need computer network? Explain in detail. (on]y four needs)

08 _éubJ’JéJW/w/'u”J,wp/Ju/ "4.)5/“:..6/&“7 <7

What is encryption? Explain the importance of encryption for everyday life on the internet.
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Flowchart Validation Algorithm Verification means to test if the required solution is there. l
10000 10011 10100 10110 el 0" ArFBA s
Number "20" is equal to in binary system.
(A-B)+(A-C) (B-0) A+®B+0 | A+B-C) e lnkl | AB+O R
Expression A -(B+C) is equal to:
30 32 29 31 B VA V2 AL
IPV4 address is made up of binary bits. |
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Protocols Networks Addresses Channels | Routers connect multiple together.
B . 8 . e QA b srLgbetsed | 7
Which symbol represents the copyright protected product?
AL sl ek B Se b Loy, 5 8
CY)’PE;?:PMC Password Patent Soft lifting | Which is used to read an encrypted message?
<i> <b> <u> <p> _;_bﬁd&liﬁé@dﬂééd—/gu? 4
tag makes the text underline.
<tr> et B e b IPUE LB BE | Gentl] 10
Which tag is used to create a hyperlink in a webpage? |
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08  Write short answers to any FOUR parts.
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( Part-1I d_,‘d.ma)

Differentiate between verification and validation? RO ST Sk u"'@ v (@
What is trace table? ?4.;1/1&,,_)’},;’/ (i)
How does algorithm play an important role in problem solving? e l;'/l;bl;fr" L, )’g/ 54 L_/ JD’/‘/ ,JT (iif)
Draw a flowchart to find the area of rectangle. N b:ﬁ ¥ L)/ o435 KJ’LM Jr iv)

‘Which software is needed to create a webpage?

_Y:’__dﬂuJ:/J/JJl/JK A-LA-L«CV’ \2)
; "c.:l/bfau—fcﬁ{, (vi)

What is meant by hypertext?
08  Write short answers to any FOUR parts.
.Convert (69610);19 into hexadecimal number system.

_;:wa’/ﬁwf 696100 @)

‘Definie the identity law. - _E Sl G
What is meant by plug and play devices? : S /Lfc_ /U)L,vl.ﬂ (iii)
Explain truth table with example. —c{u?bﬁc.dl‘f-'(}/&mb iv)
What is meant by software key in piracy? ‘-'c‘_:l/lfz J/::.)Vgﬂ (ﬂ/& )
Write an;\.,' two characteristics of good password. ~§~: ut:.c,gm%,éfJ L7104 & (vi)
()
RPN VO Sy S 1y O 2RV 'L RERERISEREEREEL S At
.

08  Write short answers to any FOUR parts. Pl _éu&l?/#[-ol? Mra.(jf
Describe apphcatlon sharing. ; €140 i g:u(, [_{ LA )
Determine two advantages of star topology. : -{;/(}V» ’I’)JLGJ’!{JL" (ii)
Define router. _EBA G
Write names of layers of TCP / IP. LE LA TR @)
What is meant by <p > tag? : ?%,;l/(_fadi <p> (V)
Show the difference between ordered and un-ordered list. -é ﬂU;J /uf h‘o‘)h'f,,;}'L-Jﬁ Uises7 (Vi)

—U‘/ 08 cf-dlr’/' -.:{/fu“f:f—um}’”c-d!( ¢‘MJJ4-LAA
Part - I, Attempt any TWO questions. Each question carries 08 marks.

08 WP (4 1 O _é_» s

Define flowchart. Draw and describe different symbols of flowchart.

04,04 LR (L) FRA () Aed
Write noteson:  (a)  Application sharing  (b)  Internet connection sharing.
08 ~§§ugqﬂ'«_{d}@/e—g‘f’(j5&]vjﬂﬁ ?c‘.,}l/g:.,dzli?

What is encryption? Explain the importance of encryption for everyday life on the internet.
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